Assembly instructions

Mobile multi-game posts stmT.TH'EME®

Prod. code: 114 0503 School Sports - Club Sports - Fitness - Therapy

D-38367 Grasleben/Germany - Phone: +49 (0)5357 18181 - Fax: +49 (0)5357 18190

Included:
(please check all components are present before assembly)

2 x counterweights with castors

2 x profile constructions

1 x pair of posts 80 x 80 mm with pulley system tensioning device
(1 x mechanism post / 1 x counter post)

8 x hex bolts DIN 933 M8 x 25

4 x hex bolts DIN 933 M8 x 100

16 x washers DIN 9021 8.4 x 22

4 x self-locking nuts DIN 985 M8

1 x assembly instructions

Overview of screws and small parts:

Page 1 of 3



Assembly instructions stmT.TH'EME®

Mobile mu":l-game posts School Sports - Club Sports - Fitness - Therapy
PrOd- COde: 1 14 0503 D-38367 Grasleben/Germany - Phone: +49 (0)5357 18181 - Fax: +49 (0)5357 18190

Unit assembly:

Mounting the profile construction to the counterweight (2 each)

Put 4 x washer DIN 9021 8.4 x 22 on 4 x hex bolts DIN 933 M8 x 25, insert into the pre-
drilled holes in the profile construction, screw into the thread hole on the counterweight and
tighten using a spanner.

Mounting the profile construction (after connecting them to the counterweights)
on the post (2 each)

Next, put 2 x washer DIN 9021 8.4 x 22 on 2 x hex bolts DIN 933 M8 x 100, insert into the
pre-drilled holes in the profile construction and the volleyball post. On the other side of the
post, then put one washer DIN 9021 8.4 x 22 each on the bolt, screw on the self-locking nuts
DIN 985 M8 and tighten using 2 spanners.

Page 2 of 3


http://www.sport-thieme.de
http://www.sport-thieme.de

Assembly instructions stmT.l."|EME®

Mobile mUItI-game pOStS School Sports - Club Sports - Fitness - Therapy
PrOd- COde: 1 14 0503 D-38367 Grasleben/Germany - Phone: +49 (0)5357 18181 - Fax: +49 (0)5357 18190

Tensioning the net:
(Net not included)

Attach the net cord to the counter post as follows:
Guide the net cord through the open threaded ring eyelet and attach to the lower threaded
ring eyelet (threaded ring eyelet above the star handle).

Attach the net cord to the mechanical post as follows:

Attach the net cord on the tensioning cord’s snap hook to the pulley mechanism and use the
stopper ball to pull the lower cord until the desired level of tension in the net is achieved.
Lock the tensioning line using a Clamcleat holder.

Relaxing and dropping the net:

Loosen the tensioning cord from the Clamcleat holder, then loosen the net from the
tensioning line’s snap hook, pull the tensioning line downwards so that there is a distance of
approx. 25 cm between the upper edge of the castor and the beginning of the pulley
mechanism. Drop the net from the counter post.

Maintenance and care:

Check at regular intervals that the screw connections are tight. Check the equipment for
possible damage and replace worn-out parts.

/
Note: Due to our continuous quality control of the products, technical changes may occur.

Page 3 of 3



	bookmark1
	bookmark2
	bookmark4
	bookmark6
	bookmark7
	bookmark8



